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2N2369ACSM

HIGH SPEED, MEDIUM POWER, NPN
SWITCHING TRANSISTOR IN A
R HERMETICALLY SEALED
ey A CERAMIC SURFACE MOUNT PACKAGE
FOR HIGH RELIABILITY APPLICATIONS
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Hermetically sealed surface mount version of
the popular 2N2369A for high reliability /
SOT23 CERAMIC space applications requiring small size and
(LCC1 PACKAGE) low weight devices.

Underside View

PAD 1 — Base PAD 2 — Emitter PAD 3 — Collector

ABSOLUTE MAXIMUM RATINGS (T, = 25°C unless otherwise stated)

Veso Collector — Base Voltage 40V
Vceo Collector — Emitter Voltage 15V
Vego Emitter — Base Voltage 4.5V
Ic Collector Current 200mA
Pp Total Device Dissipation @ Tp =25°C 360mwW
Derate above 25°C 2.06mwW/°C
Pp Total Device Dissipation @ T =25°C 680mwW
:;\ \ : Derate above 25°C 6.85mW / °C
ﬁ._:;g?@' 2 A3 Operating and Storage Temperature Range —65 to +200°C
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ELECTRICAL CHARACTERISTICS (T4 = 25°C unless otherwise stated)
Parameter Test Conditions Min. Typ. Max. [Unit
V@er)ceo+ Collector — Emitter Breakdown Voltage [ Ic = 10mA 15 \
Viriceo  Collector — Base Breakdown Voltage | Ic = 10pA 40 \
Vierjeeo  Emitter — Base Breakdown Voltage Il = 10pA 4.5 \
Vg = 20V 0.40
Ices Collector — Emitter Cut-off Current Vce = 10V 0.30 HA
\ T, = +150°C 30
Vg = 20V 0.20
IcBO Collector — Base Cut-off Current UA
\ T, = +125°C 30
leBO Emitter — Base Cut-off Current Veg =4V 0.25 UA
lc = 10mA lg = 1ImA 0.20
, _ | Ta=+150°C 0.30
VCE(sat) Collector — Emitter Saturation Voltage \
lc =30mA g = 3mA 0.25
Ilc =100mA  Ig=10mA 0.43
lc = 10mA Ta = +25°C 0.70 0.85
lg = 1mA Tp = +150°C 0.59
VBE(sat) Base — Emitter Saturation Voltage Tp =-55°C 1.02 \
lc =100mA Ig=10mA 1.20
lc = 10mA Vcge = 0.35V 40 120
Ic = 30mA Vce = 0.40V 30 120
NEes Current Gain lc = 10mA Veg =1V 40 120
T =-55°C 20
, lc = 10mA Vcg = 10V
[Nl Magnitude of h¢g 5 10 —
f=100MHz
. VCB =5V IE =0
Cop Output Capacitance 4
f = 100kHz to 1MHz F
_ Veg=05V  Ic=0 P
Cip Input Capacitance 5
f = 100kHz to 1MHz
_ lc = 10mA
tg Storage Time 13 ns
IBl = _lBZ =10mA
ton Turn—On Time lc = 10mA 12
ns
toff Turn-Off Time g1 = 3MA Igo = —-1.5mA 18

* Pulse Test: t, < 300ps, & < 2%.




